
THIS PRODUCT REQUIRES 3-5
PEOPLE TO INSTALL TOGETHER

 

HAMPTON SERIES 
10×12' GAZEBO

4

43



3300 lbs  [Do not stand on the item]









 

 

 

 

 

 

1.Before installing the gazebos, confirm that you have 
a space of 10.8 ft.* 12.8 ft. at least.
2.Before fixing the 4 columns, please confirm that the 
diagonal dimensions and length are correct.

9ft

0.45ft

0.
45

ft

11
ft

12
.92

ft 12.92ft



1

10 4x

H4 16x

M2 4x

M2

10

M1

M1 4x

M5x25

1

10 4x

H4 16x

M2 4x

M2

10

M1

M1 4x

M5x25

1010

1010

M1M1

M1M1

M2M2

M2M2

H4H4

H4 H4



2

31 2x

32 2x

29 2x

28 2x

EE 8x

M6x30

BB 8x

M6x20

H4 8x

M5x25

30 2x

Y5 2x Y7 2x

H7 12x

M5x40

H11 8x

M8

H1 4x

M5x80

30

29

28
H7H7

H4
H4

Y5

H11

H11

H11

EEH11

BB

BB

H4

EE

H1

29 28

3231

Y5

Y7

30

107.83’’
(2739mm)

H4





4

36 4x

Y9 4x

35 2x

Y8 8x

EE 32x

M6x30

BB 32x

M6x20

H11 8x

M8

Y8 35

36 EE EE

BBBBBB

Y9
35

H11

BB

EEEE

35 3636

Y8 Y8

Y8Y8 Y9 Y9



5

Y1 2x

H3 8x

M8x190

FF 8x

M8

H11 16x

M8

H4 8x

M5x25

Y2 2x

Y2

H3

FF
FF H11

H4

H4
10

H11

Y1

H3

FF

FF
H11

H4

H4
10

H11

H11

Y2 Y1

Y2

Y1

36 3635

36

10 10

35 36

10

10



6

H3 8x

M8x190

FF 8x

M8

H11 16x

M8

H4 12x

M5x25

H3

H3

H4

H11

FF

FF

H11 H4

FF
FF

H11

H11

12.92ft

12.92ft



7

15 2x

14 2x

17 2x

16 2x

AA 16x

M6x35

H5 16x

M6

AA
AA

H5H5

15

17

16

14

16x

M6x40

BB 16x

M6x20

H11 16x

M8

BBBB

H11
H11

DD

DD
DD

1417

16 15





9

GG 8x

M6x15

GG

Y9

D1 D1

D2 D2
D1

D2



10

D7 2x

D9 1x

GG 10x

M6x15

GG

GG

GG
GG

GG

D7 D9 D7

D7
D7 D9

D7



E1
E2

E1

11

E2 2x

4xE1

GG 16x

M6x15

H4 4x

M5x25

E1 E2 E1

E1 E2 E1

E1
GG

GG

GG H4

D1
D2

GG



12

F8 2x

F9 2x

GG 12x

M6x15

F8

F9

F8

E1

F8F9

GG GG

F8

F9
E1

GG

GG





14

Q1 16x

Q1 Q1 Q1 Q1 Q1 Q1 Q1 Q1

Q1 Q1 Q1 Q1 Q1 Q1 Q1 Q1

Q1Q1Q1Q1Q1Q1Q1Q1



15

CC 16x

M4x16

D4

CC

CC

CC

G3

G3

G3

D4
D4

D4 2x

G3 4x





17

S 14x

GG

GG S

GG

Q1

Q1

GG 32x

M6x15




